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Gy : 3 weooh ] o , [ Qurés LGS : 150
Time Allowed : 3 Hours ] ' ' [ Maxunum Marks : 150
ey ¢ Seoarss efﬂsmrr&;&;@m &rﬂmrrs, udlourdl 2 etensn arasTLGEET SNLTTSEIS

@&:rl’ﬂTGiTG).ILD SEstudlale @opdpular, sen s:ewraarrm‘ﬂuurrmrﬂl_m
2 | eoriqurss Gaflallésayb.

_ Instruction : Check the question paper for fairness of printing, If there is any lack of
fairness, inform the Hall Super\nsor immediately.

Uifley - oy / SECTION- A

ey : 1) yoasg lamssanseh elolusflssai.
i) sflurer el ows CsibOshSs Tuss.
Note : i) Answer all the questions-.

ii) Choose and write the correct answer. 30x1 =30

1. GQpeviMsayesr Qs Geupprer 2 Husd QelwiL@Hng)
'9)) ursefubseT wILGHD <) meVL @b ureflureyn
Q) wyCafGumys Q&.e'naaefr | F) S0aidHgl euas CFasEnD.
Restriction enzymes are syﬁthesized by
a) Dbacteria only b) yeast and bacteria

c) eukaryotic cells d) all kinds of cells.
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BevellGambl @\eeurny @BlL LLEHDE) 2

<) 2n-1 ) 2n+1

Q) 2n+2 ¥) 2n-2.

Nullisomy is represented by

a), 2n --1 | b) 2n+1

ey Zn+2 : d) 2n-2.
speflleCaismamu Nas HpbuL g gﬂ'é&tﬂ@fu spel Sjemen Berb

=) * 100 nm — 200 nm ' ©1) 200 nm - 300 nm
@) 400 nm — 700 nm ) 700wmm — 900 nm.
Which of the following wavelengths of light is most effecti;re for photosynthesis ?
a) 100 nm — 200 nm | b) 200 nm — 300 nm
c) 400 nm — 700 nm : d) 700 nm — 900 nm.
YL CUTLLSHET Sev@

2 Gammed : 2|) evdHe

Q) &GS F) LOTF&e.

The unit of genetic map is

a) codon b) lux

c) micrometer d) morgan.
(PEDWITS :%ésé]g(‘o’smjjmméml_qlb 80 GE@h&Caredlel®mha S Liug)
o) 38ATP ) 36 ATP

@) 35 ATP - % ) 32 ATP.

Complete oxidation of one molecule of glucose yields -

a) 38 ATP ' b) 36 ATP

¢} 385 ATP d) 32 ATP.
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Ij)e&fm@cuevrm:j)@;w aurymlemevulleyieirer ammiGuwrest ergl 2
2 &g <) Sumgesr
@) 24 &&ledT F)  erdgdledlesr.
Which of the following is a gaseous hormone ?

a) Kinetin b) Zeatin

c) Auxin : d) - Ethylene.

| EOETIWUTS HENHH SO BETEL I STEUTHSEN &D&EE&EL FaubnieT @)Lb GupId

=) @@Gﬁ]éé\@mg STeUTD | <) GaGur Qul'_r_rr(ge\)

@) urelQuLrGe 7) (rCearmssrenog Cu.
Plants having flowers with free petals are placed under

a) Monocotyleclons " b) Gamopetalae

c) Polypetalae T d) Mon"ocﬁlamydfeée.
@@Uéaaa'@@m&,smm[bg, EUTeN@GEVTT SHHenD&H6T SeuuUmHD gwm[ré.‘@@mufo :
=) wréCaiend : . %) By Caé

Q) @a-rremrr@eméﬁ] - '_ FF)- G&eTI_CLé.
Bicollateral vascular bundles are seen in thé members of :

a) Malvaceae ' b) Musaceae

c) Solanaceae d) Cucurbitaceae.
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I.GrU'I'I'G&TG?UoooLJ(SI;I'G?\)GB@éS@ TOSa&EHTLH

o) wgpresten blCeorey <) oukals srrursendGeve

Q) eflevgiget 1§ smiuTserdCaen ) G-S-Pq.smgmjligﬁ@msiv.

‘An example for transferase is

a) transaminase ' b) pyr_uvic carboxylase
c¢) histidin de-carboxylase d) G-3-P'dehydrogenase.
CamiflooLim aﬂb.'_?g@aﬂo%éugn' sreuy evGLgbe nehetillesr e

Q) 280 ) 5L

@) 8uSiLi . )y 108,

In Corypﬁa umbraculifera the -spaciix measures about

a) 2 metres , = 'b) 5 metres I

c) 8 metres : d 10 metres.l
Quo&rh Cuuil@ueenow M wpsiLfSSueurt

<) &Crymevey edlest@eotiweny : <) &srrs?uufr@ urandlest
@) & Gl LT 6T ard&sT F)  emieen Lrialer.
The Botanist who introduced binomial system is

a) Carolus Linnaeus ; . b) Gaspard Bauhin

c) Sir Joseph Dalton Hooker d) Charles Darwin.
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FlemrGLTSS bk THSsEsTH

<) eeurpsen erbllaflésr 31) ;ﬁaﬂmdu &by eoflov

@) oL Cymrur ety F) o Q.;uﬁ'mﬁw Slmssarefl.
An example for cladode is

a) - Phyllanthus emblica - b) Ricinus communis

c). Jatropha curcus d) Euphorbia tirucalli.
BlassLeldy 4&eT Crraws Gg;rrr_b@_;aﬂ]é;@fn o I

34) e.-;un‘?@ Cevriflur spenyGe o) OlenGsmavGLimym Clite e L
Q) &ﬁg’;@gﬁ@w;’re_onrsfv A - séJsugsfv.

Which pathogen causes Tikka disease of groundnut ?

a) Pyricularia oryzae 2 b) Cercospora personata

c) Xanthomonas citri d) Tungre-virus.

WleTaumh epest safEGlac urs s;t@rﬂarrmrr@fo 3

CORMELE S <) eoyCamiwb

Qi Caedlwid | F) eveoL(medleotT.

Which one of the folloﬁving organisms is an SCP ?

a) Nostoc b) Rhizobium

c) Galium d) Spirulina.
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15. St @)L wrbPuenssiu L & CrEorarre SHORIT I L
2) anmiGurene 2 pusd CQelding
<) 20t adiQurmerer o_bLsd) Q&u‘.:aﬂmgu
@) s&em aOamaow fassdns
F)  srilur emanl CyleL 2 pusd CQeildns.
Pseudomonas putida is an engineered bacterium that can
a) produce a hormone b) produce an antibiotic
c) digest crude oil slick d) produce carbohydrates.
16. amevger spepiles amsasiden solGamusHih@b @ e ulé &nmﬂﬁ@tb ELARITI
2 shops Cedllud 1) &@m@ﬁmLé Caibiilwio .
@) e&mié Cabllud F) “o@ludveuid.

The cambium which remains between the Xylem and the phloeni in the vascular
bundle is called : :

a) ' fascicular cambium b) inter-fascicular cambium
c) cork cambium d) phellem.
17. véeswusdlet 2 HuslsEes Comantiupb wselu seflob
=) Mg | . <) Mn
T 0 ) CL
~ The essential component for the formation of chlorophyll is
a) Mg b) Mn
e}l Fe . _ d) CL
18. g ov&]Geormibleot] g sy @
3|) eupeTHlevssTaurid <) QeLblemens g;rz‘%ug:.b
@) Bissmeurb ] F) Oarhnssmeurid.
Aeschynomene aspera is a/an | ‘
a) Xerophyte b) Mesophyte

c) Hydrophyte - d) Epiphyte.
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spolL @houldEhe o6 alosuy s Qagur 2 i sallurs aertéduamLwyb sl
o) HuGeder 3) SIS |
Q) Q&b : ; F)  Lemll.

A single seeded dry indehiscent fruit developing from an inferior ovary is

a) Cypsela b) Capsule

c) Legume d) Drupe.

LGy CLenseuid &evorg et e‘mmﬁ.:ﬁemg, Crréd) SiewhHEIeTarUTEVGTT ShHenm
=) Qeuel@rra® sebd ) 26GpTes @b .

@) DBTEBIGPET & eDd ) Uevpemet e FeuiD.

The vaséular bundle with protoxylem facing centre of the stem is

a) exarch . b _endarch

c) tetrarch d) polyarch.

speméCemsanauller Gumg Gleuemliu@d ey

&) &SN 3 &Hemen(h 3|) OBLIRET

@ vam gt F) 9 &edlenest.

' The gas evolved during photosynthesis is

~a) Carbon dioxide b) Nitrogen

c) Hydrogen d) Oxygen.
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24.

&Wlemeot 68T d]rﬂﬁ@g,@ésea&g@[o ST Uy

2) - er&eNILT | 31) .&{C"GUITUI_T
@) daGemenr #) s Grmum.
Quinine is derived from the plant

a) Eclipta b) Atropha

c) Cinchona d) Jatropha,

aNerésE grflas @(Bl;rrr@mrr@&rrfn&,@en (WPHET (PSS HeToTL MG 6T
=) Sillembli | o <) \CG. uréoSlwmesof)
@) Ul eev I | N ) mWéJGLm&.
Lampbrush chro;mosomes were first observed by

a) Fleming b) c G. Balbiani

c) Bridges ! d) Waldeyer.

ahss sTaUfSSleT emaniiCUTCILMnbléy 2R&E Carearamanrered 2y ea s

<) L@y _ <) aneSlurhgen
@) suGumblur . ") P&Camliqure.
The lamellar collenchyma is seen in the hypédermis of

a) Datura ; b) Helianthus

c) Ipomoea ' d) Nicotiana.
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25. ATP-fer Hevs: 2 Dm6v NemesoriiLysefilest src&masﬁﬂéssm&
<) @I _ ) QUee
Q) cpeim : R BT,
The number of high enérgy terminall bonds in ATP is
a) one _ ' b) two'
c) three # : ~d) four.
26. Qarily Cersamend seliy eldlsb
i) T 7 L . s) 7:1: (Y
RS S | ) 12:3:1.
The coupling test cross ratio is
SN B dE o 15) 21517
CIERPI e e . gy 126800
27. @méE,Lms\)uﬂs&T B\BOEmH@uLWIT
o) @,rgn’&%&ﬂéu mg@ﬁ@un’@?m c : 21) é,‘ﬁﬂ'éﬂo%l.ﬂ:’ Bevorig &I
Q) o Cors Lﬂtgz_g &IT F)  gdle wﬁﬁLﬂG’wﬁdﬁ,
Binomial of groundmit is |
a) Arachis hypogea ' ' b) Acalypha indica

c) Mimosa pud'ica d) Aegle marmelos.
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30.

LEE L HcaRNéEE dhEasST R

S SEVGLLIT ' ) wrBerm Gyrum
@) el egorLIT | F)  elldusib.
Examplg for partial parasite is

a) cuscuta b) monotropa
c) vanda _d] . viscum.
oL sLOs6MN60 2 sfem glevenaHemer SOL_&GD QLT [H6f
o)) oL Cemrgen 2y) OsaeGeomen
@) GCaGemev ' #) Ouéger.
Pores in the sieve plates are blocked by a substance called
a) Tyloses b) Cellulose

c) Callose d) Pectin.

(@ LN @)BD 1 BIb LISLLITET UEToTesISFIL e STETLLGD STeurid

o) &g eflur . <) @&Cevrym
@) Oumrfleorm F) By evmedorrm.
One of the sepals is brightly coloured in

a) Gardenia . b) Ixofa

c) Morinda ' d) Mussaenda.
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fifley - o / ISECTION -B
@Bl : amm@w@m ugloanh s eflamésansg ol weldnab.
Note : Answer any fifteen questiqns.' e 15 %3 =45
LevalleTay eTETDTE TR 2 T HSHHGHEHTL 5@&3.
What is pulvinus ? Give an example.
enUICwed) GEbusSHST auansLLTL @ Hleeew eTpg!s .
Write the systematic position of Rubiaceae. '_I
oufl&yd eresipmes ereirer 2
What is pyrethrum ?
wrGerramTiilé L@ eurd STeuyb erarDTeé ergémm 1 TRSHESTLH HHS.
What is monocai'pic perennial ? Give an'example.

LSl SoumTD Q&cu&el eTEHTDTEy eTETEN-? UGHEsT LIWeT Wirg) 2

What are bulliform cells ? State its function.

DL msﬁgupgﬁs&r uwe&rg.eﬁ wreme ?

What are the u.ses of gene mapping ?

2 T Geud) Hefwrhbid srcingrrs'u. eTesTent 2 TS HSHTL () 5HS.
What is biochemicai mﬁtétion ? Give an examplé.

wyy §aB&sD eredTDre eradTenT 7

What is called genetic code ?

umrélefukieead QIJ’S'?UI'_II'HE":GISFGET Qprélaefer LkE et 2
What is the role of reé&iction enzymes in Bacteria ?

[ &imiins / Turn over
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41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

SJusd el .G\um} gCsaid pen @EHalsHoas srarhseia G®osTD

QuUUITseeT 6T(HEIs.

Give the binomials of any three dicot transgenic plants.

WAQBTS eresTDTE ETebTEDT 2

What is holoenzyme ?

glpd gl urduuflagesid abs Gphlaeassie BeoL QunISng ?

State the conditions under which cyclic photophosphorylat.ion occurs.

C, sramkieer C; srayhsaoer ol qalsCeismas Hper Hehsomeal - sryewmib
EN T |

C, plants are photosynthetically more efficientithan C; plants. Give reason.
FAUTE Fa| QWD | '

Define respiratory .quotient.

Gumeug il eueTWDI. |

Define bolting.

ST U6 QUL

What is Sigmoid.growth curve ?

%é:ﬂgGsoTsj)@ urrsiuurf-le,l;rccmb GTESTDITE) GTEBTE0T ?

Whatvis oxidative phosphorylation ?

QB THEs6) eresTTey srséfrém ?

What is fermentation ?

o 0 wEHGSET - sueml;rmsﬁ)g) Qlglis.

Define bio-medicine.

&Sl B)etTy &IT HTeUTSSIET IDBSGIOIL LWLSTSHOET SIS,

Write the medicinal value of Acalypha indica.
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Jifley - @ / SECTION - C

efliy: 1) coaGuad g Oomssass ool sms.  eeubner
allerm erator 51 @ sLLmwnrs alol oefss Caicsor®n.

ii) Goevewrer GLiseile LLD eurs.

Note : i}.  Answer any seven questions including Question No. 51 which is
compulsory.
ii) - .Draw diagrams wherever necessary. by 7x5 =235

2Fle 2_os 5rrsugs)5]u;le‘\> Quuit GLEE sl sdler weHlu opeiser g8samib mbaos
g 5ds _ _ :

Write Iany five salient féatures of ICBN.

wooCurmiiCus) @RbLSH T QUIEBENTTSTHL LWETHeT r(gS.

Write about the economic importance of Euphorbiéceaeﬁ

Qralsdlons srary Campsed onalsdoas §;ITG{I-I;[ Caimsed e CGu 2 eier

2 effenemwiiilucy CaumurGaemen 6{@5;

| Distinguish the anatomy of dicot roots from monocot roots.

Qealsglons srar @Eoedds ense Qal®s Csrhpsost ULD @THS

LUTSEIS NS GN.

Draw and label the parts of T.S. of dicot leéf.

oL Cerllaevssi Qlj)iﬂf‘ﬁ @rﬁllﬂ@u@@&)f

Write short note on tylloses.

iesT Bdvevg) Yerefl Sl wTHDd eresTDTS eredraor 2 afleur.

Define point or gene mutation. Explain.

&L68 RNA ( tRNA ) allet ULD euejibgl LTSRS 6Ts GNléeealb.
Draw and label the parts of structure of tRNA

[ d®lys / Turn over
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59.

60.

=61,

62.

63.

64.

sTaughseile e garseT ey UGSs LGS aTpaT ?
How are foreign genes introduced into the plants ?

sfesr  LTHDHSTE 2 GeuTSHL  ebH g Qurplesiar OQuuiseTyb Sjeubiies

LiwedT Hemenyld 6r(Lpgis .

Name the ﬂve genetically engineered products. Mention their functions.

_G&@n@&@ Feurgre oy bemeas aleurf.

Explain Ganong's respiroscope experiment,.
Cs wpmid C, gpef&Csirsams sub&g@l_ﬁlm@&@ Qe Gui o &fer GeunLIT@aei WTee 2
What are the differences between C; and Cj plants ?
DBSSIUSHIS @m@mﬂlﬁm updl Sy @lﬁﬁu TS
Write short note on microbes in medicine.
difle) - # / SECTION - D

eoloy: i) amm@m@ﬁ) BTG aﬁ]mﬁé,&@é@ ol sHs.

1) Gaeeiiumen @) misefley LLD eTs.

Note: i) JAnswer any four questions.

ii) | Draw diagrams wherever necessary. ' | 4 x10 =40
GBS \BbDId AUEssT sral aosiUT g St aarou alarfl. { alasab
2i606ug) eueTLILID )

Explain the outline of Bentham and Hooker's classification of plants.

( Explanation or flow chart )

@Qg)Lﬂq‘v&a’v Gyrer-emeClaraidlev gragsdoa somes Qerpserrd ealleufl. weur

cUETUL D QUEITS. el euUmDLUTL L 6T(LSIs.

Describe Hibiscus rosasinensis in technical terms. Draw the floral diagram and

write the floral formula. _
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68.

69.

70.
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halsSlons srairs SN (Wedh Ml wobliau aleurf.
Describe the primary structure of monocot stem.

&CyrCurGerbaeilear ewiliesr ogiuom s ghu@d &CrrCurGsmd Ky &sefer

auemssamer alleur].

Write an account on chromosomal aberration on the basis \of its structure.
sTayd gl euertinfledr SuqliLeL Qewe i ukiseaer aleurfl,

Desc;ibe basic techniques involved in tissue culture.

Semershameddledles u@_@emmaasmsﬂ aleufl. ( alleréeid 2dvevs euemFLL 5+)
Write an account on glycolysis. ( Flow chart or explanation)
seflEaragseubd wHNID @eﬁ]r‘r L el LHH) R S DOy euDTs.

Write an essay of photoperiodism and vernaliz_at_ion.

2 A 2 ghseen LD &Gy aTs.

Write detailed account of biofertilizers.
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